Problem H: Hardcore Hangman
Time limit: 2 seconds

You have probably heard about the game called hangman (and

played it as a child). You try to guess a word with as few /& /f/
guesses as possible. In each guess, you suggest a letter, for &
example an a, and you get all the positions in the word, where 7 ot

an a appears.

That can take quite a few guesses, in particular, if a difficult

word was chosen. So, let’s change the game a bit. Instead of B @ a
guessing just a single letter, any set of letters can be guessed in

one turn. As a result you get all positions which contain one of A hangman game with the word banana.
the guessed letters.

_— = — —

If the word 1s ‘hangman’ and you guess the letters h, z and a in the first turn, you get the
positions 1, 2 and 6. Of course, you still don’t know whether there is an h, z or a at these
positions, but it has to be one of those three letters.

Your task is to find the hidden word (it is not always a proper English word, but can be any string
consisting of lowercase English letters) using at most 7 guesses.

Interaction

This is an interactive problem. Your submission will be run against an interactor, which reads
the standard output of your submission and writes to the standard input of your submission. This
interaction needs to follow a specific protocol:

Your submission repeatedly sends one of two query types:

* “? 5”7, where s is a string of pairwise distinct lowercase letters. The interactor replies with
an integer n followed by n integers i1, 19, . . . , %5, the indices of the positions (1-indexed)
in the hidden string, which contain a character in s.

o ““I

x”, where z (1 < |z| < 10%) is a string of lower case letters. The interactor replies
with “correct” in case x is the hidden string, else it replies with “incorrect”. After the
answer “correct”, your program should terminate.

All interactions must be ended by a newline. Further note that you additionally need to flush the
standard output to ensure that the query is sent. For example, you can use:

* std::cout << std::flushinC++
e fflush(stdout) inC

* System.out.flush () inJava

* sys.stdout.flush () in Python

The hidden word has length at most 10%. You may use at most 7 queries.

A testing tool is provided to help you develop your solution. It can be downloaded from the
DOMjudge problems overview page.
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Read Sample Interaction 1 Write

‘ ? aeiou ‘
(3246 |

‘ ? bcdfghjklmnpgrstvwxyz ‘
(3135 |

‘ ? abcd ‘
(41246 |

‘ ? bn ‘
13135 |

‘ ! banana ‘
’ correct ‘
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